== A
N = 0] &F AF S & AN A
2015 &= 20l A et H  JIEIEE S H, 2O HEESH HNE D
28 HE
HE: GEHR 25
SR KYAS 25 (29l 8)
(o
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
(RSl 364,711,900 315,058,677 49,653,223
AN=TE &= 241,133 175,634 65,499
NEA &S 241,133 175,634 65,499
NeENHEed 41,133 175,634 65,499
201 et d| 84,500 46,000 38,500
01 AR 22l ] 53,500 46,000 7,500
OgBrA AL ZH| 30,000
ODNMHYLE X SSMAXS] =42
22,0008 22,5004 5,000
02015 A2 & DJIE} AJIES=N T Kol 11,000
OXYASAH HMHMNE =222 H& 7,500
02 =224 H| 26,000 0 26,000
OXNEMHALS=LHBAIAEH Xl 22l gl 26,000
03 Al HH| 5,000 0 5,000
ONAEYR HEg L HARYITHG SHAI2HH| 5,000
202 o4 | 15,000 15,000 0
01 2Ll 15,000 15,000 0
OXNEgAM HgH A4 S NEER F4 10,000
OXYA HREA U] 5,000
203 €2 F=&d| 5,000 5,000 0
03 Al =& 2 = X H| 5,000 5,000 0
OXYAM g2=& S 5,000
204 &R 4= A H| 22,800 21,600 1,200
03 EXELRAY| 22,800 21,600 1,200
ONREEZ22 100,000 x 19 x12& 22,800
303 ZAZ2 3,000 3,000 0
01 ZAZ 3,000 3,000 0]
OXNEM A 22A2 Al&Z 3,000
306 23 80,333 85,034 N4, 701
01 542 80,333 85,034 A4, 701
OXYMHARRH SHZ 80,333
403 XX SHHS K20 & 30,500 0 30,500
02 27| 2tS 0l CHSHCH & A HI 30,500 0 30,500
OEZXNLANEBAAE 2dSF ALY 30,500
A X & 227,112,227 183,833,025 43,279,202
Axneza e 13,649,095 12,839,687 809,408
AN ALENEz2 WE 13,649,095 12,839,687 809,408
308 XHXIGHH SO0l & 13,649,095 12,839,687 809,408




M N

M WEXEH

el WEREZ B (ol @)
SA - BB B () - MM - BES Ol &t o San HmEET
02 8+NTF= 13,649,095 12,839,687 809,408
020159 & XA 3% 13,649,095
UHEFWEZ W2 213,463,132 170,993, 338 42,469,794
XA HWEZ W= 213,463,132 170,993, 338 42,469,794
308 XtXIEHHSOIA 213,463,132 170,993,338 42,469,794
04 Al -Z2Z2FNES 213,463,132 170,993, 338 42,469,794
02015 XA =& 213,463,132
s HEXA 137,300,000 131,000, 000 6,300,000
ANENsAHN 8= 137,300,000 131,000,000 6,300,000
ANLYNEA A& 137,300,000 131,000, 000 6,300,000
703 UEHIEEIIHNEES 137,300,000 131,000, 000 6,300,000
01 HEMES 137,300,000 131,000, 000 6,300,000
OXNgusAH &N 137,300,000
HY2FZH (ME D) 58,540 50,018 8,522
Jl=&l 58,540 50,018 8,522
Jl2zl 58,540 50,018 8,522
201 Let24d]| 17,740 15,498 2,242
01 At 2teltl 17,740 15,498 2,242
OJle+=&Hl 7,240
OJlEs &l 10,500
202 oddl 37,800 34,020 3,780
01 = LH o4 1l 37,800 34,020 3,780
OJl=0tl 37,800
405 XtatE SHI 3,000 500 2,500
01 AR ESFH S 3,000 500 2,500
OE=SZ=H 1,500,000& »24! 3,000




